Systems of Linear Algebraic Equations
In the following examples
(a) Determine the number of solution (of the SLAE)

(b) Find all the possible solutions.

1. 2. 3.
20 —3y+2=0 —z+3y+22=0 T+2y+32=14
r+2y—2z=3 —Sr+y—2z=1 2ty —z=3
20 +y+z=12 20+y+22=0 3x+3y+2:=7
4. 5
43y +22=0 x1 — 229 + 313 — day = 4
20 —y+32=0 To —x3+ x4 =—3
3z =5y +4z=0 21+ 319 — 324 =1
r+17y+42=0 —Tx9 + 3x3 + 24 = —3
6. 7. For parameter k € R solve:
1 — 2z + a3+ 4 =1 r+2y+32=>5
Ty — 229+ 23 —24 =—1 3r+y+2z2=k
1 —2x0 + 23+ 54 =5 2% —y—2=0

Determinants

Compute determinants of the following matrices and decide if there are singular or not. Try to write
down the rank of the matrices.

.A1:<—1 —3> 2 5 0 1 2 3
-2 5 e Ap=1|-1 7 1 e A;=12 1 3
4 —4 1 45

1 1 -1 1 i 144

e Ay=1(2 1 0 e As=| — 1 0

1 -1 1 1—¢ 0 1

Compute determinants of the following matrices and decide if there are singular or not:

0 5 -2 3 1 0 -1 -1 ¢ a a

112 0 0 {0 -1 -1 1 e Ag=|—-a a =

cds=1|g o 3 o cAdr=1| . » 0 o —a —a =z
9 -1 2 3 1 -1 1 0



